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1o &
unumnanadluaunsh 3.1
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3.3 M33MBANITUVAILAN PID #0H) Transfer Function
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F(sy = V,[R(s)-Cs)] (3.5)

NNzl 702 1aums
Cls) = G(s). F(s)

dwdheaunis v ld
C(s)
G(s)

F(s) (3.6)

UNUMANNTIN 3.5 Taumsi 3.6 oz'ld
C(s)
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= V,[R(s)-C()]

e G(s) hlqu
C(s) = G(s). V,[R(s)-C(s)]

a8 G(s) waz ¥, €l luredy
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dhodaaums
Cls) _ G-V,
R(s)  1+G(s)V,

(3.7
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unun gl s luaunish 3.7

[ 5.345 J k,s+k +k,s
C(s) 0.025° +0.25* +0.025 +0.2 $
R(s) ( 5.345 ) k,s+k, +k,s°
1+
0.025* +0.25* +0.025 + 0.2 s

ks+k +k,s?
a2 hllusady
A

5.345(k 5+ k, + k,s?)
C(s) 0.025* +0.25° +0.025% + 0.25

R(s) 1+[ 5.3450k 5 + k, + k,57) J

0.02s5* +0.25° +0.025? + 025

[ 5.345(k,s+k, + k5 )

0.025* +0.25" +0.025* + 0.2
(00254025 +0.025 +0.25) + 5345k 5 + k, +K,5)
0.025° +0.25> +0.025% + 0.2
ATUAIU AN
C(s) 5.345(k, s+ k, + k,5°)

Rs)  ((0.025' +0.25° +0.025 +0.26) +5.345(k, 5+, + k7))

5.345k 5 +5.345k, +5.345k,s*
(0.025* +0.25° +0.025% +0.25 + 5.345k 5> +5.345k, 5 + 5.345k,

5.345k 5 +5.345k, + 5.345k s
(0.025* +0.25° +(0.02% 5345k, ) 5* +(0.2x5.345k, ) s + 5.345k, )

 5.345k,s +5.345k, +5.345k s’ 69
(0.025" +0.25> +0.1068k 5% +1.068k 5+ 5.345k, ) ’
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nmsqumnInlaunsy Matlab 92181 £, =8, &, =1, & =4 furfesfiga unus

luaunish 3.8

42.76+5.345 + 21.38
(0.025* +0.25° +0.42725” +8.5445 + 5.345)

69.485
= 1 3 2 (3.9)
(0.02.5‘ +0.25" +04272s" +8.5445 + 5.345)

vheumsis.o Thalasadmannen iy Tilsunsy Matab 928
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